EXnZFHIZIT 1047 0R LT 1L E
10X10=100

100 X 10=1,000

1 000 X 10=10,000

@minzrE I, 1004 - 2 Eo 3 H
10X10=100

100 X 100=10000

1000 X 1000=100 0000

A EIZIX, 100045 - 3 EDHE
10X 10X 10=1000

100 X 100 X 100=100 0000

1000 X 1000 X 1000=10 0000 0000



(V
(V

/C“

AARZOEDHLFT I, A7 PR Y) TTH°
STYRMH DERF*

B ARZE K

10
1 00

1 00O

O

-2k
- U

LT EEBRELTBEI ),
1
10
1 00



1

0O 0O

10

0O 0

—_
-
S O O

-
-

-
-
o O O =

-
-

— O O O O

oS O O O O+

S O O =

o O O O O O

o O O O

o O O O
oS O O O
o O O O

o O O O O O
o O O O O O
o o O O O O

o O O O

oS O O O

a 7
+ &
— &

7
+ 1
T &

a
Ik,
&

T 1
+ 7



